o, [mb]

Ratio to ALICE

900 GeV pp Soft QCD
T I T I I T I T I I I T I T 0
25 - | | e
= Cross section(Mx < 200 GeVf) 43
B =
| m ALICE 1S
| --=-- Pythia 6.428 359 |
—A— Pythia 6.428 370 =
20 — Pythi =
B ythia 6.428 a e
---%-- Pythia 6.428 dw Yo
~  —o— Pythia 6.428 p0 2
----- ¥ Pythia 6.428 pro-q20 |
15 — —]
= o 7oy
™
- <
™
- _|©
o
i = <
10 _,f_::ZZ::ZZZ:ZZZZZZZZZ::ZZZ:ZZZZZEZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZ::_]_->§
_ 4%
e
- ~G
[
—
B 19
5 — —a
(@]
N | | | , | | | | | , | [ ] -
:l T T T T | T T T T |:
2 & =2
1 11
------------------------------------- —
0.5 — —0.5
| : : | : |
899.5 900 900.5

sqrt{s} [GeV]



	Contents
	Page 1


